Precal Matters WS 5.1 Angles & Angle Measure

Name Date - Period
Worksheet 5.1—Angles and Angle Measure

Show all work on a separate sheet of paper. When you can, g'ive simplified, exact answers, otherwise
report 3-decimals. A calculator is permitted unless otherwise stated. ‘

Multiple Choice X 0 o X
1. What is the radian measure of an angle of x degrees? s = ARV
| X 7x O 180x 180
A B — . C D E) —
(A) 7x ()180 © 0 (D) — ()mr

2. A central angle in a circle of radius # has a measure of @ radians. If the same central angle were drawn

~ in a circle of radius 37, its radian measure would be “Trg S0Vt W
A) — B) — cHhe D) 26 E) 2r8 s F
OVE: ® - © o (B) 27
3. Expressed in radian measure, 235" is ‘ P ~
) k2 ®) g}i 47 _ D) 3’6_7r ® 51 a %6 "_,.TI.‘.! ‘;CJ_J (.i..I..
235 n— 36 a7 T V0" 36

Y

4 ,
4, Which of the following angles is coterminal with 14?”? &\,’_—

147z 23x Slz Or 167
(A) “'_5“ (B) “IF' (C) '?0— (D) _5_ @——5—

5. Find the reference angle for 327 4T - \%’\\ = a

\
M Wy

2
27 N\ 47z R 67 87 147
iy v Oy O O

6. Two angles are complementary if their sum is 90°. In radians, find the complement of % ;E - :;ED = ?% M
7. Two angles are supplementary if their sum is 180°. In radians, find the supplement of 1_610£ - %% = 33 vi
@ Lr ® 122 ©Lr 0) 2% ® -1

8. Find a coterminal angle to the angle 137°. _
: (Aj 43 (B) —251146° (C) 80079°. (D) 199945° @—359503°

Page 1 of 2




Precal Matters™ - ) WS 5.1 Angles & Angle Measure

9, Find a coterminal angle to the angle %

T3

361x 24397 . 069827 237
A) —— B) — Dy — By —
()50 ®) 50 50 ()50 ()50,

. , 27 |
10. Find the reference angle to the angle ?0—- Zﬁ—m‘

36lr 24397 698277 23z 737
Ay —— B) — C D)}—— E) —
® 5 ®) o © = e ® =
Short Answer

11. Draw the following angles in standard position, then find the reference angle. Be sure to show the

. terminal ray and label the reference angle in your diagram.

@) 0=-2587.62  (b) 9:%’5 © ¢:22§3” (&) p=1234567'89" (o) 2 =37.603
>\
’b‘uhiotﬁzo
Beet = L1L3° =3
cef b efe@ q NO et OU’\SQ@

&) B=12%0 (. &) o~ 3103
O = L9AT .o b8

-
k=, 0301 or 0,090
oV :
ORI




12. Convert 118°44'13"% from DMS to decimal radians. Show the work that leads to your answer.

NG+ sk B = 18,130
|30

from radians to DMS. Show the work that leads to your answer,

59

13. Convert 63417

gﬂéjw‘-j ¢ _.%9—3 - [0“7 )Ll OD

14. Find an angle 6 ¢ [0", 360°) that is coterminal with the following givén angles.
(a) 744" (b) ~5381.251° (c) -361° (d) 800°25'25"

Y 00,433 ell’

0 Bk@ N b) = 39) AV +30p°= )%

CERS i Ul @c&%o =l

15. Find an angle a € [0 27:) that is coterminal with the following given angles.

) 1377: ) _36797;

(©) 687  (d) 20

0) Uy = 2 7 b)dcﬁ’é"ﬁC)@@lc_oJr"O &k = Lozzpw

%cot* 5"107‘
T o ] |50

|

——
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